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Ex- 9C) Date 
Pags 

2 6.1 

iN8,2_and 24 

3649 60, 12 8u,96 103,120 
,72,16, 1Ra J4uA6192 21G 

Common ultiple U,48 
LCME 2Y 

10,6gnd 20 
10 10,R0 30 4D 50 (6)70 80 90 O0 5120 yS (GO)7S 90 106,1202S,1ED R20, 4D(GO 30,00 120 1HDl60 1RD,206- 

CommOn mutipe. Go 

I13,6,9 and 12 
3:2 612,15,1&,21,u,1,30,23,36. 

6 12,13,24,30,26, 42, 49,60 9,18M1,26, US,S,$2,12,31,90
12-12,2436, u3, 6a,12,31,96,ID8,120

LCM=36 
The pime acbrt methoo 121,266 

18 2x3x3_ 



Date. 
Page 

L 

6 213X 2X2 2 x2 

L 2x 2x2223E 

Common_diviuon_nmethnd 

13,24 and 16 

213 24 96- 
9,12, 48 

2 6 24 
3 9, 3, 12 

3, 

|LCM= 222x3 x2=233 

Prume acor method 
lon_ 150 and 200 

lo0=2 x21515 5 
150 2x 3 x552x3xs 
200- 212K5x5=5 

So, LCM=2x3 x 5:21222x31Sx5 =600 
DComMan divisan methodL 

2l00 150, 200 
250 75 l00 
5125 75 50 
S|51E 10 
3, 2 

LCM= 2x2x SS x3x2=600 



Pege 

ilL)ume acdor nethad 

3= 3%7 

0,LCM=x3x72 = 2 x3 7X7=294 

ommon duiuon m othnd 

4,31,39 

21219 
7721,49 
3,7 

LCM= 2x7 247 294 
Prumeador methnd 

iv22,12L,22 

22= 2ll= 2x i 
12= |Xll= its_ 

SoLCM=2x3xi 213milx11=726 
Coumpn oliuision methad 

|22,12132 
2,11, 3 

LCM 2%ll12= 726 



Date 

Poga 

Prume kactar mehad 

34,85,SL 

34= 2I7= ox 7 
85 S7=5IE 
SI 3 xI7= 3E 

So, LeME 212543I7i -® 2x5 13x17= S10 

Comman duison method 

1348S, 51 
253 

LCM=x2 x513=51O 



) 

The The HCE SD 
he LOM e 

Ona a the prrostrb- 150 
The thur umbutE 

HCE LM 15000 
160 he otht nunbert 

So, the athexr nuaber s 00 

he ptaolaust ok tun rumbur 422 lhor LM: 72 
HCE 5 

7/132|8 
32 

he HE: G2 

(5 he prAduc o, kon numbera= 19,200 lhair HCLE= 40_ 

L 4D14 200 
-16,0 So the LM 480. 320 
30 

3 13,1513 24,36 
S6 n2he anallest numbtrn 
5 2 

L5 228,3u phd 36 leawing na. 
5 

6uhch when dunded by 12,1sS, 

2 cemdinder 360 
LuM= 31225x3x2 60 



Deta 

Pegt 

212 13,u 32 40 
612 16, 20 
9G 10 

3 3 3 5 
,3,145 

2x2x3x3 xS=1440 
LCM= Y40. 

The imallest numbert which uhen increa d by: one 
exactly diisible by 12,18,2u,32 aundl uO= CM-4 

iO-L: 1139 

LCMa 19,36,32_and 21 

218,36,32,2 
2 13IG 21 
39.8 12 
313,3, ,9 

LCM=x2x 2x3 xgx3 61 

The mallest numbercAuhieh, on being decnenssd hy3, aillbe 

dlubla by 18,26 ,32 and 27 = L�M+ 3 
861+3= 867L 


